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Which of the following statements describes the relationship between the input and
the output in the table above?

PoR>

Multiply the input by 4 to get the output.

Double the input and add 2 to get the output.
Double the input and add 4 to get the output.
Multiply the input by 3 and add 1 to get the output.
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The following diagram shows a balanced scale. The mass of the blocks on
each side of the scale is the same.

The mass of 1 block labelled by the letter n is

A, 2grams
B. 4grams
C. 6grams
D. 8grams
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‘Which of the following operations would preserve equality in the equation shown
above?

A.  Subtract 4 from the left side and add 4 to the right side

B.  Subtract 6 from the left side and add 4 to the right side

C.  Subtract 6 from the left side and subtract 6 from the right side

D.  Subtract 4 from the left side and subtract 6 from the right side
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Equation1 2x0=6

4x0=12

Numerical Response

If the value of (J is the same for all three equations, then the product in Equation 2

is

(Record your answer in the numerical-response section on the answer sheet.)
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‘The science ceatre s open every day in Apeil. Anoe and Jack are tour guides.
:::nam ‘Anne works every second day. Jack works every

[T (T T G O G |-

IF Anne and Jack both start work on April 2, then how many more days will Anne work
than Jack in the moath of April?
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The outside air temperature at 3:00 PM. is 22.5 °C. If the temperature drops
by 1.5 °C every hour after that, then at what time will the temperature be 15 °C?

A 8:00PM
B. 830pM
C. 9:00PM
D. 930PM
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Pierre arranges ice-cream sticks to form the pattern shown below.

An expression that can be used to determine the total number of ice-cream sticks that Pierre
‘will need to continue the pattern is
A Number of triangles x 2~ 1
B.  Number of triangles x 2+ 1
€. Number of triangles 3 -2
D.  Number of triangles 3 +2
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‘Which of the following expressioas represents the mumber of blocks that are needed for
structure 57
A 1045
B. 1046
C 1546
D. 1547
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[_m value of O in the following two equations is the same.

{_ 44-5=0+4

What is the value of A?
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Ata restaurant, chairs and tables are put together in the pattern shown below.

How many chairs would ft around 6 tables that are put together in the same patiern
as shown above?

A 20
B 2
cox
D 0
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I
A pattem is being made, as shown below.
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If the pattern continucs, then how many triangles will be in row 77
13

soRry

21
36
49
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2xn+3

Numeric

ponse

I The value of n in the equation above s .

(Record your answer in the numerical-response section on the answer sheet
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If the pattern in the graph continues, then how much money would be saved in year 87
$1.500
$1750
$2000
$2250
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If OO -63.55 = 106.45, then the value of [ is

A. 8290
B. 83.90
C. 170.00

D. 180.00




